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Instructions : (1) 1 to 8 questions carry equal marks. Write any three. 42

(2) Question No. 9 is compulsory.

Attempt any three questions :
1.  What is Health ? Explain the concept of demand and supply for Health.
2. Explain the role and failure of government in the health sector.

3.  Explain the concept of decentralization. Demonstrate improvements to decentralization

and private-public mixed health practices.
4. What is healthcare ? Explain the difference between private and public healthcare.
5. Explain the characteristics of Education and its various types.
6.  Discuss investment and education of Indian.
7. Discuss specific programs for education in India.

8.  Explain the alternative method of Financial investment in education.
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Death rate means per population deaths during a year.

(a) 100 (b) 1000

(c) 500 (d) 300

Urbanization problem is created because of unemployment.
(a) rural (b) disguise

(c) agriculture (d) All of these
Economic growth is with change in the quality of education.
(a) increased (b) decreased

(c) zero (d) no effect

Under Section of Constitution of India opportunities for development
and facilities to the children.

(a) 36 (b) 37

(c) 38 (d) 39

New Education Policy in India is implemented in the year

(a) 1990 (b) 2000
(c) 2020 (d) 1986
Give full form of WHO :

(a) World health Organization
(b) World Heritage Organization
(c) World Help Organization

(d) World Human Organization

Give the full form of UNDP :

(a) Union Nations Development Program
(b) United Nations Development Program
(c¢) United National Development Program
(d) Union National Development Program

Give the full form of HDI :

(a) Hyderabad Development Index
(b) Hindustan Disaster Index

(c) Human Development Index

(d) Hyderabad Disaster Index




